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594,000 15 (BATE)
SPNERV=yY-BTH — — XEE-5HLRC — — 143,000M
TIVT0)=9y — — 70,400H 126,650M — —
214,500M 263,450M 231,000M 341,550M
Tx(9)=vy X5HLAHL X5BEAL XEE-SHUAL X5uLaL 143,000 66,000
HMEARRERERIY=YY 6[@:77,400M — — 6@l:155,700M 1[@]:6,800M 1[@]:9,000M
MEERIY=YYH 6[@:77,400M — — 6@l:155,700M 1[@]:6,800M 1[@]:9,000M
Lo—FH1y—wh 215,250M 309,230M 294,260 378,000M 110,250H 94,500M
ey =y 64,800 90,400M 70,400 129,800M 81,600M 81,600
(5-T4—2) 1[8]: 19,800 1[8]: 26,800 1[8]: 29,600 1[8]: 36,6004 1[8]:7,800M —
HBIEL) =y (CzohLL—X) 1[8]: 26,8004 1[8]: 33,0004 1[8]: 33,0004 1[8]: 39,800 1[8]:9,800M 1[8]:9,800M
(D499 T52) — — 99,600 142,000 — —
TLATHY=vh (RibFS5>) 198,000 247,000H 247,000M 296,000 99,000M 99,000H
146,000 224,000 224,000H
ETER~<YT7 =99 X51LHL X5HLHL X5BLAL — 88,000M 88,000M
CRAD=vD — — 68,200M 134,200M — —
IZFILIU=vD 68,200M 129,800M 68,200M 129,800M — —
98,000
(F4v9) XS1L - BHL — — — — 48,000
RRPRERNE (F—5—A(K) 198,000 298,000 298,000 389,000M 102,000 126,900
F=EEERNF-NFE — — — — 1[@]: 10,800 1[8]: 12,0004
ml | EARNE — — — — 1[8]: 14,990 1[8]: 19,000
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